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PEHI T (ICT) =Y 26, 879, 695 | #H!I (ICT) 5, 300 m3
/Y -7 iy BEEMEL 5, 000m3LL 110, 000m3
A
A 450 m3
Ty A7 iy A 130, 000m3 A X
W ERES £
A 3, 000 m3
o 47" by b BEME 1, 000m3LL_E5, 000m3A
Tl
A 640 m3
WA SO T
b 5, 320 m3
0 CaBl- EHIRY £5Te) ;
b 3,630 m3
/e =g
H 1 3, 500 m3
L O-27)
FHIA Ob-27) 3, 600 m3
+1 &850, 000m3ATH ;
FEARRE T 2V 1,139,740 | B&{K (BELE) B & 4,900 m3
4. 0mPL E
BRE LT = 203,832 | B L 570 m3
(FiAW)
4. 0mPL E
Rkt A = 306, 250 | {EMEETE (& L) 700 m2
T i S O I BRI
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VAT VAR L RE T (ZEREN7T) | 1 20, 375, 785 | i - BEFLARE 23 m

18-8-40 (B JF) ;

foE L RERE AT - BB 162 m2
(A2)

58 - RERE AR NT - BB 499 m
(& & Hii T LYK A1)

T BEAA B 830 m2
(A2)
W=1.2m ;

T BEAA B 555 m2
(A1)
W=1.2m ;

VEFSESIN 58 m3
(A2)
HURT EEA 3020 ;

FEHL-BH L, FEED 462 m3

FEHL-BH L, FEED 979 m3
Gk E)
C-40 ;

W H U BG4S 380 m2
Gk E)
S-100 ;

B NHEK T 193 m
W=300mm t=4mm ;

BEM b e 23 m
(A2)
I® 0.3m ;

HEKHEEY T = 1 5, 390, 104
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BT = 1 57,420 |ta—h%& BIEE) 3 m
SMEE 1
AR v T 2 1 78,020 | BT HAEKHE 1 ST
B HTHA 18-8-25 (Fi4F) 500X 500X 600 ;
= 1 e
RS ES 500 X 5004k (HDZT49) & W EE ;
HEAKT = 1 4,391, 388 | /NERHEAK 81 m
PTE 300mm PN 300mm ;
CEUEVZAR 124 m2
t=5cm 18-8-25 (20) a9 - MR &Y
L
IKEHEK = 74 m
R EEREAS-20 ;
A HKE 120 m
BRI A S-20 AT t=3. Omm ;
s ALER T = 1 6, 841, 040
IEALBREE T = 1 6,841,040 |{kER 196 N
INY=S(E S 1 =K
rGan 2 1 16, 319, 188
AR T 2 1 4,403,230 | HzHI 340 m3
THp A7 iy L EEM 5, 000m3LL 10,
000m3 AT ;
EuNE R 710 m3
2. 5mATH
VEABGIERET = 1 7,909, 680 [ny/ty} 1,070 m2
A AR 3. 2mm AR D22mm X F 1, 000mm <
S 2. 0m;
nyJ 4y b 130 m2
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VEZEY-1 i T = 1, 344, 438 | #HwHF 800 m2
RC-40 #E 500mmbL | ;
VE#IE 1k T = 578, 700 |y /K ALEH EE fi 1 =
AL 10m3 /hiflk ;

A ERE E T = 2,083, 140 | A3k %K 5 1 =
[ERAE Xy = 78, 603, 403
HiE R = 13, 365, 486
BISTIGE: = 3, 583, 486

Hefif & = 1,021,000 | AHREELLY 2 1 =

HeffrE sy = 684, 486 | {R5FEHE (ICT) 1 =

YATLIE 2 (ICT) 1 F2V

TE R AT -IMERE A 1 =
BGRESGESE (5 L) = 1, 878, 000
B (FEHL) = 9, 782, 000
T = 91, 968, 889
Bl gy = 31, 738, 000
T =5l = 123, 706, 889
— R A = 20, 633, 111
TS = 144, 340, 000
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